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Aufgabe: Bestimme jeweils die erste Ableitung und vereinfache.

Klasse 10:

𝑓 (𝑥) = 𝑥41) 𝑓 (𝑥) = 672) 𝑓 (𝑥) = 𝑥1013)

𝑠 (𝑡) = 𝑡44) ℎ(𝑦) = 𝑦125) 𝑓 (𝑥) = 𝑥
1
36)

𝑚(𝑎) = 𝑎−37) 𝑔(𝑧) = 1
𝑧2

8) 𝑓 (𝑥) = 1
𝑥309)

𝑓 (𝑥) = 𝑥𝑎10) 𝑓 (𝑥) = 1
𝑥𝑟11) 𝑔𝑘 (𝑡) = 𝑡2𝑘 · 𝑡12)

𝑓 (𝑥) = 𝑥3 + 𝑥213) 𝑔(𝑝) = 𝑝11 + 𝑝7 + 𝑝314) 𝑤 (𝑥) = 3𝑥215)

𝑧 (𝑠) = 2𝑠7 − 3𝑠416) 𝑞(𝑥) = 4𝑥
1
217) ℎ(𝑎) = 3

4𝑎
2 − 3𝑎−118)

𝑖 (𝑡) = −𝑡 − 2𝑡−419) 𝑜 (𝑑) = 𝑑3+3𝑑
𝑑 − 𝑑520) 𝑔(𝑟 ) = 𝑟 · (2𝑟 5 − 2𝑟 + 5)21)

𝐴(𝑟 ) = 𝜋 · 𝑟 222) 𝑉 (𝑟 ) = 4
3𝜋 · 𝑟 323) 𝑢 (𝑥) =

√
𝑥 − 𝑥24)

𝑔(𝑦) = 𝑦3 · (𝑦2+𝑦)−(2𝑦)425) 𝑡 (𝑥) = 1
8𝑥

4 − 4𝑥 + 326) 𝑓 (𝑥) = − 40
𝑥27)

𝑔𝑡 (𝑥) = 2𝑡𝑥3 − 3
2𝑡

2𝑥228) 𝑎𝑡 (𝑛) = (𝑡 − 𝑛)2 + 𝑡
4𝑛

429) 𝑗 (𝑤) = 3
√
𝑤 − 5𝑤30)

𝑟 (𝑢) = 0, 25𝑥4+0, 4𝑥5−631) 𝑥 (𝑟 ) = (𝑟−2) ·(𝑟+2)−3𝑟 232) 𝑓 (𝑥) = 1
𝑥33)

𝑔(𝑎) = 3
√
𝑎 + 4𝑎334) 𝑐 (𝑎) = (𝑎2 − 1) · 𝑎235) 𝑘 (𝑣) = 𝑣2 −

√
2𝑣 + 536)

𝑗 (𝑘) = 𝑘4+1
𝑘2

37) 𝑓 (𝑥) = 59 − 10038) 𝑏 (𝑥) = 10−3 · ( 13𝑥3−6𝑥2)39)

𝑟 (𝑢) = 𝑢 · (𝑢 + 2)240) 𝑝 (𝑡) = −0, 5𝑡3 − 𝑡241) 𝑔(𝑠) = 𝑠3 − 6𝑠2 + 11𝑠 − 642)

𝑑 (𝑥) = 1
2𝑥243) 𝑧 (𝑥) = 2

𝑥4 − 144) 𝑗 (𝑎) = (2𝑎 − 1) · (𝑎2 − 3)45)

𝑓 (𝑥) = − 1
3𝑥

3+2𝑥2−4𝑥+246) 𝑛(𝑓 ) =
√
6√

3𝑓 2
+ 𝜋 𝑓 247) 𝑔(𝑞) = 𝑞4 − 𝑞3 − 2𝑞248)

𝑙 (𝑥) = 049) 𝑟 (𝑤) = (𝑤+7) ·5𝑤3+8𝑤350)

Klasse 11/12 - Grundkurs:

𝑓 (𝑥) = 4𝑥2 + 2𝑥 + 151) 𝑗 (𝑥) = 𝑥
2
352) 𝑠 (𝑟 ) = 𝑟 150 − 𝑟 10053)

𝑗 (𝑥) = (𝑥 + 4)254) 𝑠 (𝑤) = 2√
𝑤
− 3

𝑤555) 𝑐 (𝑎) = 𝑎 · (𝑎 + 1
𝑎 )56)

𝑏 (𝑟 ) = 𝑟 4−𝑟 3
𝑟 2

57) 𝑔(𝑧) = 𝑧12+𝑧8+1
𝑧10

58) ℎ(𝑠) = 𝑠𝑖𝑛(𝑠)59)

𝑢 (𝑥) = 3
8−𝑥60) 𝑙 (𝑢) = 5 · (𝑢 + 6)3 + 561) 𝑚(𝑔) =

√
1
2𝑔 − 362)

𝑡 (𝑖) = 1
𝑖63) 𝑎(𝑙) = −3 · 𝑠𝑖𝑛(4 − 2𝑙)64) 𝑜 (𝑥) = 2

√
𝑥 − 2𝑥65)

𝑧 (𝑑) =
√
366) ℎ(𝑜) =

√
1 − 𝑜67) 𝑓 (𝑡) = −3

(2𝑡+3)268)

𝑎(𝑚) =
√
𝑚 ·𝑚69) 𝑥 (𝑟 ) = 1

𝑟 · 𝑠𝑖𝑛(𝑟 )70) 𝑓 (𝑡) = (𝑡 − 1) · (𝑡 − 3)271)

𝑢 (𝑎) = 1
𝑎 · (𝑎4 + 3𝑎2)72) 𝑠 (𝑣) = 3

20𝑣
4 − 2𝑣3 + 𝑣73) 𝑘 (𝑢) = 2 · 𝑠𝑖𝑛(𝑢) + 174)

𝑦 (𝑟 ) = 2√
𝑟
+

√
𝑟
275) 𝑓 (𝑥) = (𝑥 − 3)3 · 𝑥76) 𝑡 (𝑎) = 𝑎 · 3

√
2𝑎 + 177)
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𝑗 (𝑧) = 𝑠𝑖𝑛(𝑧) · 𝑐𝑜𝑠 (𝑧)78) 𝑔(𝑖) = 𝑒−2𝑖79) 𝑚(𝑥) = 𝑥2 · 𝑒𝑥80)

𝑓 (𝑦) = 3 · 𝑒−4𝑦+281) 𝑛(𝑥) = 𝑥3 · 𝑒2𝑥82) 𝑓 (𝑥) = 𝑒𝑥 · 𝑒𝑥 + 12𝑒𝑥83)

𝑧 (𝑥) = 0 − 140 + 3984) 𝑓 (𝑎) = 4 − 4 · 𝑒−0,1𝑎85) 𝑠𝑘 (𝑢) = 𝑘 · 𝑢 + 𝑒𝑘 ·𝑢86)

𝑎𝑥 (𝑏) = 3 · 𝑒𝑏−𝑥 − 487) 𝑙𝑏 (𝑥) = 𝑥 · 𝑒𝑥+𝑏88) 𝑛𝑘 (𝑔) = 10 · (1 + 𝑔) · 𝑒𝑘 ·𝑔89)

𝑓 (ℎ) = 090) 𝑑 (𝑟 ) = 𝑐𝑜𝑠 (𝑟 ) · (−𝑐𝑜𝑠 (𝑟 ))91) 𝑓 (𝑥) = 𝑠𝑖𝑛(𝑥) · 𝑥92)

𝑢 (𝑎) = (2𝑎+1) ·
√
−5𝑎 + 293) 𝑟 (𝑡) = −2𝑡4 − 1

3𝑡
394) 𝑓 (𝑥) = −5

2𝑥2 − 𝑥595)

𝑜 (𝑎) = 𝑎3 + 196) 𝑤𝑡 (𝑥) = 𝑡𝑥5 − 𝑥97) 𝑐 (𝑠) = 2
(− 3

4𝑠+4)2
98)

𝑑 (𝑖) = 𝜋 + 𝑒 + 1299) 𝑗 (𝑎) = 3
3𝑎−4100)

Klasse 11/12 - Leistungskurs:

𝑓 (𝑥) = 3 · 𝑐𝑜𝑠 (𝑥) + 6
√
𝑥101) 𝑢 (𝑣) = 𝑣2+1

𝑣2
102) 𝑦𝑎 (𝑧) = 𝑎

𝑧 + 𝑧
𝑎2

103)

𝑠 (𝑡) =
√
𝑡104) ℎ(𝑦) = (15𝑦3 − 3)−2105) 𝑓𝑎 (𝑥) = 𝑐𝑜𝑠 (𝑎𝑥)106)

𝑏 (𝑥) = 2𝑥
𝑥2−1107) 𝑑𝑎 (𝑥) = (𝑎𝑥)4 ·

√
𝑎𝑥108) 𝑏 (𝑙) =

√
𝑙 · (𝑙 − 9)109)

𝑑 (ℎ) = (ℎ + 1)2 · (ℎ − 2)110) ℎ(𝑎) = 𝑎4√
𝜋

111) 𝑣 (𝑥) = 2𝑥 − 1
𝑥2112)

𝑑𝑥 (𝑦) = 𝑒𝑥 + 𝑥2113) 𝑦 (𝑥) = 𝑥3+𝑥
𝑥2−1114) 𝑗 (𝑎) = (2𝑎 + 1) · 1

𝑎115)

𝑓 (𝑥) = 𝑎𝑥3 +𝑏𝑥2 +𝑐𝑥 +𝑑116) 𝑗 (𝑥) = (−𝑥 − 1)2 + 8𝑥117) 𝑠 (𝑎) = − 4
5 · 𝑐𝑜𝑠 (𝑎) −

7
2𝑎3118)

𝑓 (𝑙) = − 4
9𝑙

3 + 3119) 𝑠 (𝑟 ) = 1
𝑟 3

120) 𝑦𝑡 (𝑥) = 6
𝑥 + 2𝑡𝑥2121)

𝑠 (𝑥) = ( 4
7𝑥3 )2 + 𝑐𝑜𝑠 (𝑥)122) 𝑝 (𝑡) = 1

2𝑡
3 + 1

4𝑡
2123) 𝑓 (𝑥) = 𝑢 (𝑣 (𝑥))124)

𝑓 (𝑝) = 6 · 𝑒𝑝+1125) 𝑧𝑎 (𝑝) =
√
𝑎𝑠𝑖𝑛(𝑝)126) ℎ𝑥 (𝑎) = (𝑎 − 𝑒𝑥 )2127)

𝑗 (𝑠) = 𝑎𝑛𝑠128) 𝑞(𝑡) = 1
2 ·

√
3 · 𝑡− 1

2129) 𝑓 (𝑥) =
√
𝑐𝑜𝑠 (2𝑥)130)

𝑓 (𝑥) = 𝑥 · 5
√
𝑥131) 𝑤 (𝑥) = 1

𝑒𝑥+1132) 𝑎(𝑤) = 𝑤√
𝑤2+4

133)

𝑐 (𝑟 ) = −𝑠𝑖𝑛(𝜋 (𝑟 + 1))134) 𝑑 (𝑥) = 2 · 𝑐𝑜𝑠 (𝑥 + 𝜋
2 )135) 𝑞(𝑝) = 𝑙𝑛(𝑝 · 𝑠𝑖𝑛(𝑝))136)

𝑠 (𝑡) = 2 · 𝑔2(𝑡)137) 𝑎(𝑥) = 𝑓 (𝑥 + 2)138) 𝑘 (𝑟 ) = 𝑔(
√
𝑠𝑖𝑛(𝑥))139)

𝑧 (𝑥) = (2𝑥 − 1) ·
√
𝑥3 − 1140) 𝑥 (𝑡) = 2

√
𝑡 · (1 − 𝑡)141) 𝑑 (𝑡) = (𝑠𝑖𝑛(𝑡))2142)

𝑟 (𝑎) = 𝑙𝑛 (𝑎)
𝑎2

143) 𝑠 (𝑡) = 𝑙𝑛(𝑡 − 5) − 2144) 𝑦 (𝑎) = 𝑒𝑠𝑖𝑛 (𝑎)145)

𝑖 (𝑎) = 𝑠𝑖𝑛 (𝑎)√
𝑎

146) 𝑑 (𝑟 ) = 4
√
𝑠𝑖𝑛(𝑟 2)147) 𝑤 (𝑡) = 𝑐𝑜𝑠 (𝑠𝑖𝑛(0, 5))148)

𝑜 (𝑏) = 𝑙𝑛(𝑏) − 3𝑏2149) 𝑢 (𝑥) = 𝑙𝑛(𝑠𝑖𝑛(𝑥2))150)
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